Riccomini

Sequence Activity: Multistep Problems
(Handout #5)

Follow all four instructions below to solve each of the three problems. Enter your answer
into the space provided.

A. Multiply the third number in the first row by the seventh number in the third row.
B. Add this result to the fifth number in the second row.

C. Add to this total ten times the fourth number in the third row.

D. Subtract the eighth number in the first row from the result.

Problem1: 6 58 74 5 6 8 4 |
321956 432 1 Answer

6515132325

Problem?2: 7 5 4 9 9 5 4 4 1 I
251480966 g Answer

57576576 82

Problem3: 1 2 3 7 6 5 4 3 2 l
8432165 4 g Answer

6 558175126
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